



# Article On the Algebraic Independence of the Values of Functions Associated with Hypergeometric Functions <sup>†</sup>

Vasily Gorelov

Moscow Power Engineering Institute, National Research University, 111250 Moscow, Russia; gorelov.va@mail.ru; Tel.: +7-495-362-77-74

+ The results of the work are obtained in the framework of the state contract of the Ministry of Education and Science of the Russian Federation (project no. FSWF-2020-0022).

**Abstract:** Functions that are integrals of products of generalized hypergeometric functions of some kind are considered. The conditions for the representability of these functions as a polynomial in hypergeometric ones are found. The necessary and sufficient conditions for the algebraic independence of such functions are established.

**Keywords:** generalized hypergeometric functions; algebraic independence; Siegel's method; E-functions

MSC: 11J91

### 1. Introduction

Let  $\mathbb{A}$  be the set of all algebraic numbers, and let  $\overline{|\alpha|}$  be the maximum of the absolute values of the algebraic number  $\alpha$  and all of its conjugates in the field  $\mathbb{A}$ . Let  $\mathbb{C}(z)$  be the field of all rational functions with complex coefficients, and let  $K[z_1, \ldots, z_n]$  be the ring of all polynomials in  $z_1, \ldots, z_n$  with coefficients in a ring K.

One of the main methods of transcendental number theory is the Siegel–Shidlowsky method (see [1–3]). With its help, the transcendence and algebraic independence of the values of the so-called E-functions (a subclass of entire functions of the first order, which are closed with respect to differentiation and integration) are proved.

K. Siegel [1] called the entire function

$$f(z) = \sum_{n=0}^{\infty} c_n \frac{z^n}{n!}, \quad c_n \in \mathbb{A}$$

an E-function if:

1. for any  $\varepsilon > 0$   $\overline{|c_n|} = O(n^{\varepsilon n}), n \to \infty;$ 

- 2. for any  $\varepsilon > 0$ , the least common denominator of  $c_1, \ldots, c_n$  is  $O(n^{\varepsilon n}), n \to \infty$ ;
- 3. f(z) satisfies a linear differential equation with the coefficients in  $\mathbb{C}(z)$ .

An example of E-functions is a class of hypergeometric E-functions  ${}_{l}\varphi_{q}(\vec{v}; \vec{\lambda}; \alpha z^{q-l})$ , where

$${}_{l}\varphi_{q}(\vec{\nu};\vec{\lambda};z) = {}_{l+1}F_{q}\left(\begin{array}{c}1,\nu_{1},\ldots,\nu_{l}\\\lambda_{1},\ldots,\lambda_{q}\end{array}\right|z\right) = \sum_{n=0}^{\infty}\frac{(\nu_{1})_{n}\ldots(\nu_{l})_{n}}{(\lambda_{1})_{n}\ldots(\lambda_{q})_{n}}z^{n},$$

$$0 \leq l < q, (\nu)_0 = 1, (\nu)_n = \nu(\nu+1) \dots (\nu+n-1), \ \vec{\nu} = (\nu_1, \dots, \nu_l) \in \mathbb{Q}^l, \ \vec{\lambda} \in (\mathbb{Q} \setminus \mathbb{Z}_{\leq 0})^q, \ \alpha \in \mathbb{A}.$$

There is a large number of works in which the algebraic independence of the values of various sets of hypergeometric functions at algebraic points is established (see [3]).

In [1], K. Siegel proved that every polynomial  $P \in \mathbb{A}[z, f_1(z), \dots, f_n(z)]$ , where  $f_1(z), \dots, f_n(z)$  are hypergeometric E-functions or the functions obtained from them by



Citation: Gorelov, V. On the Algebraic Independence of the Values of Functions Associated with Hypergeometric Functions. *Axioms* 2023, *12*, 36. https://doi.org/ 10.3390/axioms12010036

Academic Editor: Federico G. Infusino

Received: 28 November 2022 Revised: 23 December 2022 Accepted: 24 December 2022 Published: 28 December 2022



**Copyright:** © 2022 by the author. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). replacing *z* with  $\alpha z$  for  $\alpha \in \mathbb{A}$ , is an E-function satisfying a linear differential equation with the coefficients in  $\mathbb{C}(z)$ . In the same article ([1], §2), K. Siegel formulated a conjecture that the converse statement is also true.

In the author's articles (see [4]) that were published in 2000–2005, the Siegel conjecture was proved for E-functions satisfying linear homogeneous differential equations of an order not higher than 2, and, in some cases, inhomogeneous equations of the second order.

In 2005, the author [5] proved a weakened version of the Siegel conjecture for all linear differential equations of an order not higher than 2, including inhomogeneous ones. In the same article, it was suggested that, in general, Siegel's hypothesis is incorrect. As examples of rebuttals, it was suggested to consider the E-functions

$$V(z) = V_{\lambda,\alpha}(z) = e^{\alpha z} \int_0^z e^{-\alpha t} \varphi_{\lambda}(t) dt = z + \left(\frac{1}{\lambda+1} + \alpha\right) \frac{z^2}{2} + \dots,$$
(1)

satisfying the equations

$$y'' + (-\alpha - 1 + \lambda/z)y' + (\alpha - \lambda\alpha/z)y = \lambda/z,$$
(2)

where  $\alpha \in \mathbb{A}$ ,  $\lambda \in \mathbb{Q}$ ,  $-\lambda \notin \mathbb{N}$ , and  $\varphi_{\lambda}(z)$  is the function introduced by A.B. Shidlowsky (see [3], ch. 5, §2),

$$\varphi_{\lambda}(z) = {}_1F_1\left(\begin{array}{c}1\\\lambda+1\end{array}\middle|z\right) = 1 + \sum_{n=1}^{\infty} \frac{z^n}{(\lambda+1)\dots(\lambda+n)} = \lambda z^{-\lambda} e^z \int^z t^{\lambda-1} e^{-t} dt.$$

If  $\lambda > 0$ , then the lower integration bound is 0. Otherwise, the integral denotes the antiderivative for the function  $t^{\lambda-1}e^{-t}$ , which is obtained after multiplying all of the terms of the Taylor decomposition of  $e^{-t}$  by  $t^{\lambda-1}$  and the termwise integration with a constant of integration equal to zero (see [3], ch. 5, §2, formula (21)).

Recently, J. Frezan and P. Jossen [6], relying on the works of I. Andre ([7,8]), N. Katz [9], T. Rivoal and S. Fischler [10], and other mathematicians, strictly proved that some Efunctions are not polynomials in hypergeometric E-functions. The resulting refutation of Siegel's conjecture makes it relevant to develop methods for studying the algebraic and number-theoretic properties of functions that are not algebraically expressed through hypergeometric E-functions.

#### 2. On Algebraic Identities between the Functions V(z), $\varphi_{\lambda}(z)$ , and $e^{z}$

The function  $\varphi_{\lambda}(z)$ , introduced by A.B. Shidlowsky, satisfies the equation

$$y' = (1 - \lambda/z)y + \lambda/z \tag{3}$$

and can be understood as an "inhomogeneous analogue" of the function  $e^{z}$ .

**Lemma 1** ([3], ch. 5, §3; Lemma 4 in [11]). Let  $\lambda_0 \in \mathbb{Z}_{\geq 0}$ ,  $\lambda_1, \ldots, \lambda_m \in \mathbb{C} \setminus \mathbb{Z}$ ,  $m \geq 0$ , and  $\lambda_i - \lambda_j \notin \mathbb{Z}$ ,  $i \neq j$ ; the numbers  $\beta_1, \ldots, \beta_n \in \mathbb{C}$  are linearly independent over  $\mathbb{Q}$ ,  $\alpha_1, \ldots, \alpha_n \in \mathbb{C} \setminus \{0\}$ ,  $\alpha_i \neq \alpha_j$ ,  $i \neq j$ . Then, the (m + 1)n functions

$$\varphi_{\lambda_0}(\beta_i z), \ \varphi_{\lambda_i}(\alpha_i z), \quad j = 1, \dots, m, \ i = 1, \dots, n$$

$$\tag{4}$$

are algebraically independent over  $\mathbb{C}(z)$ .

Taking into account the identities  $\varphi_0(z) = e^z$  and

$$\varphi_{\lambda}(z) = \frac{z^l}{(\lambda+1)\dots(\lambda+l)}\varphi_{\lambda+l}(z) + 1 + \sum_{n=1}^{l-1}\frac{z^n}{(\lambda+1)\dots(\lambda+n)},$$
(5)

where  $l \in \mathbb{N}$ , the conditions of Lemma 1 are necessary and sufficient.

From Lemma 7 in [12], a stronger version of Lemma 1 follows.

**Lemma 2.** Under the conditions of Lemma 1, the functions (4) are algebraically independent over  $\mathbb{C}$  together with the functions  $z^{\xi_1}, \ldots, z^{\xi_p}$ , where the numbers  $\xi_1, \ldots, \xi_p \in \mathbb{C}$  are linearly independent over  $\mathbb{Q}, \xi_1 \in \mathbb{Q}, p \in \mathbb{N}$ .

**Theorem 1.** The following identities hold:

$$V_{0,\,\alpha}(z) = e^{\alpha z} \int_0^z e^{-\alpha t} e^t dt = \frac{1}{1-\alpha} (e^z - e^{\alpha z}), \quad \alpha \neq 1; \quad V_{0,\,1}(z) = z e^z; \tag{6}$$

$$V_{\lambda,1}(z) = e^z \int_0^z e^{-t} \varphi_{\lambda}(t) dt = \frac{z}{1-\lambda} \varphi_{\lambda}(z) + \frac{\lambda}{1-\lambda} (1-e^z), \quad \lambda \neq 1;$$
(7)

$$V_{1/2,2}(z) = e^{2z} \int_0^z e^{-2t} \varphi_{1/2}(t) \, dt = z \varphi_{1/2}^2(z); \tag{8}$$

$$V_{3/2,2}(z) = -\frac{4}{3}z^3\varphi_{3/2}^2(z) - (4z^2 + 2z)\varphi_{3/2}(z) - 3z - 3 + 3e^{2z};$$
(9)

$$V_{-1/2,2}(z) = \frac{1}{4z}\varphi_{-1/2}^2(z) - (1 + \frac{1}{2z})\varphi_{-1/2}(z) + \frac{1}{4z} + e^{2z}.$$
 (10)

All other functions  $V_{k+1/2,2}(z)$ ,  $k \in \mathbb{Z}$ , are also uniquely represented as  $c e^{2z} + P_0$ , where  $c \in \mathbb{Q} \setminus \{0\}$ ,  $P_0$  is a second-power polynomial in  $\varphi_{k+1/2}(z)$  with the coefficients in  $\mathbb{Q}[z, z^{-1}]$ .

**Proof.** Identities (6) are proved through direct computation. The validity of identity (8) can be established as follows. If we multiply both parts of it by  $e^{-2z}$ , differentiate with respect to *z*, and divide by  $e^{-2z}$ , then, taking (3) into account, we get the correct identity of the form  $\varphi_{1/2}(z) = \varphi_{1/2}(z)$ . By performing these actions in reverse order, due to  $V_{1/2,2}(0) = 0$ , we get (8).

Identity (7) is proved similarly to (8).

From identity (5), for l = 1, by using integration by parts and (3) successively, we get

$$\begin{aligned} V_{\lambda,2}(z) &= e^{2z} \int_0^z e^{-2t} \varphi_{\lambda}(t) dt = \frac{1}{\lambda+1} e^{2z} \int_0^z e^{-2t} t \varphi_{\lambda+1}(t) dt - \frac{1}{2} (1-e^{2z}), \\ I &= \int_0^z e^{-2t} t \varphi_{\lambda+1}(t) dt = -\frac{1}{2} \int_0^z t \varphi_{\lambda+1}(t) de^{-2t} = \\ &= -\frac{1}{2} \left( e^{-2t} t \varphi_{\lambda+1}(t) \Big|_0^z - \int_0^z e^{-2t} (\varphi_{\lambda+1}(t) + t \varphi'_{\lambda+1}(t)) dt \right) \\ &= \frac{1}{2} I - \frac{\lambda}{2} \int_0^z e^{-2t} \varphi_{\lambda+1}(t) dt - \frac{1}{2} e^{-2z} z \varphi_{\lambda+1}(z) + \frac{\lambda+1}{4} (1-e^{-2z}), \\ I &= -\lambda \int_0^z e^{-2t} \varphi_{\lambda+1}(t) dt - e^{-2z} z \varphi_{\lambda+1}(z) + \frac{\lambda+1}{2} (1-e^{-2z}), \\ V_{\lambda,2}(z) &= -\frac{\lambda}{\lambda+1} V_{\lambda+1,2}(z) - \frac{1}{\lambda+1} z \varphi_{\lambda+1}(z) - 1 + e^{2z}, \end{aligned}$$
(11)

$$V_{\lambda+1,2}(z) = -\frac{\lambda+1}{\lambda} V_{\lambda,2}(z) - \frac{1}{\lambda} z \varphi_{\lambda+1}(z) + \frac{\lambda+1}{\lambda} (-1+e^{2z}).$$
(12)

From Formula (12), by induction on *n*, we easily obtain the formula

$$V_{\frac{2n+1}{2},2}(z) = (-1)^n (2n+1) V_{\frac{1}{2},2}(z) + (-1)^{n+1} (2n+1) \left(1 - \frac{1}{3} + \frac{1}{5} - \dots + \frac{(-1)^{n+1}}{2n-1}\right) e^{2z} + L, \qquad n = 1, 2, \dots,$$

where *L* is a linear combination of the functions 1,  $z\varphi_{3/2}(z)$ , ...,  $z\varphi_{(2n+1)/2}(z)$  with the coefficients in  $\mathbb{Q}$ . From here, by using Formulas (5) and (8), for  $V_{(2n+1)/2,2}(z)$ , we obtain the expression described in the statement of the theorem. This expression is defined uniquely by virtue of Lemma 1.

Similarly to (11), we get

$$V_{-\frac{2n+1}{2},2}(z) = (-1)^n (2n+1) V_{\frac{1}{2},2}(z) +$$
$$+ (-1)^n (2n+1) \left(1 - \frac{1}{3} + \frac{1}{5} - \dots + \frac{(-1)^n}{2n+1}\right) e^{2z} + L, \qquad n = 0, 1, 2, \dots,$$

where *L* is a linear combination of the functions 1,  $z\varphi_{-1/2}(z)$ , ..., and  $z\varphi_{-(2n+1)/2}(z)$ , with the coefficients in  $\mathbb{Q}$ . From this, we come again to the statement of the theorem. Formulas (9) and (10) are special cases of the reasoning used. Theorem 1 is proved.  $\Box$ 

**Theorem 2.** Under the conditions of Lemma 1, the function  $V_{\lambda,\alpha}(z)$ ,  $\lambda \notin \mathbb{Z}$ , can be expressed as a polynomial *P* in functions (4) with the coefficients in  $\mathbb{C}[z, z^{-1}]$  only in the case of m = n =1,  $\lambda_1 - \lambda \in \mathbb{Z}$ ,  $\alpha_1 = 1$ ,  $\alpha \in \{1, 2\}$ ,  $2\lambda \in \mathbb{Z}$  for  $\alpha = 2$ ,  $P = ce^{\alpha z} + P_0$ , where  $c \in \mathbb{C}$ , and  $P_0$  is a polynomial not higher than the second power in the function  $\varphi_{\lambda}(z)$ . If  $\lambda \in \mathbb{Z}_{\geq 0}$ , then for  $\alpha \neq 1$ , *P* is a linear form with the coefficients in  $\mathbb{C}[z, z^{-1}]$  of the functions  $e^z$  and  $e^{\alpha z}$ , and for  $\alpha = 1$ , it is of the functions  $e^z$  and 1. In addition, if  $\lambda \in \mathbb{Z}_{\geq 0}$ ,  $\alpha \neq 1$ , then  $\lambda = 0$ .

**Proof.** We express, if necessary, the function  $\varphi_{\lambda_0}(z)$  via  $e^z$  (according to the identities (5) and  $\varphi_0(z) = e^z$ ), and we assume that

$$V_{\lambda,\alpha}(z) = e^{\alpha z} \int_0^z e^{-\alpha t} \varphi_{\lambda}(t) dt = P = P_1 e^{\gamma_1 z} + \dots + P_s e^{\gamma_s z} + P_0,$$

where  $s \ge 0$ ,  $P_0, \ldots, P_s$  are non-zero polynomials in the functions  $\varphi_{\lambda_j}(\alpha_i z)$ ,  $j \ne 0$ ; the numbers  $\gamma_1, \ldots, \gamma_s \in \mathbb{C} \setminus \{0\}$  are different. Multiplying this equality by  $e^{-\alpha z}$ , differentiating with respect to z, and dividing by  $e^{-\alpha z}$ , we get

$$\varphi_{\lambda}(z) = (P_{1}' + (\gamma_{1} - \alpha)P_{1})e^{\gamma_{1}z} + \dots + (P_{s}' + (\gamma_{s} - \alpha)P_{s})e^{\gamma_{s}z} + P_{0}' - \alpha P_{0}.$$
 (13)

If  $\lambda \notin \mathbb{Z}$ , then according to Lemma 1  $P'_k + (\gamma_k - \alpha)P_k = 0$ , i.e.,  $P_k = c_k e^{(\gamma_k - \alpha)z}$ ,  $c_k \neq 0$ . Hence, in view of Lemma 1  $\gamma_k = \alpha$ ,  $P_k = c_k$ , s = 1. If  $\lambda \in \mathbb{Z}_{\geq 0}$ ,  $\alpha \neq 1$ , then another case  $\gamma_k = 1$ , s = 2 is possible.

Thus, it is proved that for  $\lambda \notin \mathbb{Z}$ ,

$$V_{\lambda,\alpha}(z) = P = ce^{\alpha z} + P_0, \tag{14}$$

and for  $\lambda \in \mathbb{Z}_{\geq 0}$ ,

$$V_{\lambda,\alpha}(z) = P = ce^{\alpha z} + P_1 e^z + P_0,$$
 (15)

where  $c \in \mathbb{C}$ ,  $P_0$ ,  $P_1$  are polynomials in the functions  $\varphi_{\lambda_j}(\alpha_i z)$ ,  $j \neq 0$ . Let the equality (14) be

$$P_0 = P_k \varphi_{\lambda_1}^k(\alpha_1 z) + P_{k-1} \varphi_{\lambda_1}^{k-1}(\alpha_1 z) + \dots + P_1 \varphi_{\lambda_1}(\alpha_1 z) + P_*,$$

where  $k \ge 1$ ,  $P_*$ ,  $P_1$ , ...,  $P_k$  are polynomials in the functions  $\varphi_{\lambda_j}(\alpha_i z)$ , except for  $\varphi_{\lambda_1}(\alpha_1 z)$ , with the coefficients in  $\mathbb{C}[z, z^{-1}]$ .

Then, by multiplying the equality (14) by  $e^{-\alpha z}$ , differentiating with respect to *z*, and dividing by  $e^{-\alpha z}$ , we get

$$\varphi_{\lambda}(z) = \left(P'_{k} + \left(k\alpha_{1} - \alpha - \frac{k\lambda_{1}}{z}\right)P_{k}\right)\varphi^{k}_{\lambda_{1}}(\alpha_{1}z) +$$

$$+\left(P'_{k-1}+\left((k-1)\alpha_1-\alpha-\frac{(k-1)\lambda_1}{z}\right)P_{k-1}+\frac{k\lambda_1}{z}P_k\right)\varphi_{\lambda_1}^{k-1}(\alpha_1 z)+\ldots$$

If  $\lambda_1 - \lambda \notin \mathbb{Z}$ , then according to Lemma 1, the coefficients at  $\varphi_{\lambda_1}^t(\alpha_1 z)$  should be zero. Hence,

$$P'_{k} = \left(\alpha - k\alpha_{1} + \frac{k\lambda_{1}}{z}\right)P_{k}, \quad P_{k} = c_{k}e^{(\alpha - k\alpha_{1})z}z^{k\lambda_{1}}, \quad c_{k} \neq 0.$$

According to Lemma 1, this is only possible if  $\alpha = k\alpha_1, k\lambda_1 \in \mathbb{Z}$ . Hence,

$$P'_{k-1} = \left(\alpha_1 + \frac{(k-1)\lambda_1}{z}\right) P_{k-1} - c_k k \lambda_1 z^{k\lambda_1 - 1}, \quad P_{k-1} \neq 0.$$

Solving this equation with the method of variation of parameters, we get

$$P_{k-1} = c_0 z^{k\lambda_1} \varphi_{\lambda_1}(\alpha_1 z) + c_1 e^{\alpha_1 z} z^{k\lambda_1} z^{-\lambda_1}, \quad c_0, c_1 \in \mathbb{C},$$

which contradicts Lemma 2. Therefore, the polynomial  $P_0$  does not depend on the functions  $\varphi_{\lambda_j}(\alpha_i z)$ , except, perhaps,  $\varphi_{\lambda}(z)$ , and in this case,  $\lambda_1 - \lambda \in \mathbb{Z}$ ,  $k \leq 2$ ,  $\alpha_1 = 1$ ,  $\alpha \in \{1, 2\}$ ,  $2\lambda \in \mathbb{Z}$  for  $\alpha = 2$ .

Similarly, let the equality (15) be

$$P_1e^z + P_0 = P_k\varphi_{\lambda_1}^k(\alpha_1 z) + P_{k-1}\varphi_{\lambda_1}^{k-1}(\alpha_1 z) + \dots + P_1\varphi_{\lambda_1}(\alpha_1 z) + P_*,$$

where  $k \ge 1$ ,  $P_*$ ,  $P_1$ ,...,  $P_k$  are polynomials in the functions  $e^z$  and  $\varphi_{\lambda_j}(\alpha_i z)$ , except for  $\varphi_{\lambda_1}(\alpha_1 z)$ , with the coefficients in  $\mathbb{C}[z, z^{-1}]$ . Let us repeat the reasoning carried out for equality (14). Here, due to the fact that  $P_k$  may depend on  $e^z$ , another case,  $\alpha = k\alpha_1 + 1$ ,  $k\lambda_1 \in \mathbb{Z}$ ,  $P_k = c_k e^z z^{k\lambda_1}$ ,  $c_k \neq 0$ , arises. In this case,

$$P_{k-1} = c_0 z^{k\lambda_1} e^z \varphi_{\lambda_1}(\alpha_1 z) + c_1 e^{\alpha_1 z} e^z z^{k\lambda_1} z^{-\lambda_1}, \quad c_0, c_1 \in \mathbb{C},$$

which contradicts Lemma 2.

Thus, we can assume that in equality (15),  $P_1, P_0 \in \mathbb{C}[z, z^{-1}]$ . If  $\lambda = m \in \mathbb{Z}_{\geq 0}$ , then, from equality (13), with s = 2,  $\gamma_1 = 1$ ,  $\gamma_2 = \alpha$ , taking (5) into account, we get  $m!/z^m = P'_1 + (1 - \alpha)P_1$ . However, since  $P_1 = z^{n_1} + \cdots + z^{n_k}$ ,  $n_1 > \cdots > n_k$ , then with  $\alpha \neq 1$ , this is possible only in the case of m = 0. Then, from (13),  $P'_0 = \alpha P_0$ , from which  $P_0 = 0$ . Theorem 2 is proven.  $\Box$ 

#### 3. On the Algebraic Independence of the Functions V(z) and V'(z) and Their Values

**Lemma 3** (Theorem 2 in [4]). A function f(z) is an *E*-function satisfying a linear differential equation of the second order (generally speaking, inhomogeneous) with coefficients in  $\mathbb{C}(z)$ , and the functions f(z) and f'(z) are algebraically dependent over  $\mathbb{C}(z)$  if and only if either

$$f(z) = P_2 \varphi_k(\alpha z) + P_1 \varphi_k(\sigma \alpha z) + P_0,$$

or

$$f(z) = P_2 \varphi_{\lambda}^2(\alpha z) + P_1 \varphi_{\lambda}(\alpha z) + P_0,$$

where  $P_0, P_1, P_2 \in \mathbb{A}[z]$ ,  $k \in \mathbb{Z}_{\geq 0}$ ,  $\lambda, \sigma \in \mathbb{Q}$ ,  $\alpha \in \mathbb{A}$ .

**Lemma 4.** The *E*-functions  $V_{\lambda,\alpha}(z)$  and  $V'_{\lambda,\alpha}(z)$  are algebraically dependent over  $\mathbb{C}(z)$  if and only if  $\lambda = 0$ ,  $\alpha \in \mathbb{Q}$ ,  $\lambda = 1/2$ ,  $\alpha = 2$ , or  $\lambda \in \mathbb{Z}_{\geq 2}$ ,  $\alpha = 1$ .

**Proof.** The sufficiency of the conditions of Lemma 4 follows from identities (6)–(8) and Lemma 3.

Let us prove the necessity of these conditions. If the E-functions V(z) and V'(z) are algebraically dependent, then, according to Lemma 3,

$$V(z) = e^{\alpha z} \int_0^z e^{-\alpha t} \varphi_\lambda(t) dt = P_2 \varphi_k(\alpha_1 z) + P_1 \varphi_k(\sigma \alpha_1 z) + P_0$$
(16)

or

$$V(z) = e^{\alpha z} \int_0^z e^{-\alpha t} \varphi_{\lambda}(t) dt = P_2 \varphi_{\lambda_1}^2(\alpha_1 z) + P_1 \varphi_{\lambda_1}(\alpha_1 z) + P_0, \tag{17}$$

where  $P_0, P_1, P_2 \in \mathbb{A}[z]$ ,  $k \in \mathbb{Z}_{\geq 0}$ ,  $\lambda_1, \sigma \in \mathbb{Q}$ ,  $\alpha_1 \in \mathbb{A}$ .

The following reasoning can be somewhat simplified by using the statement of Theorem 2, but here, the proof is carried out directly.

If equality (16) holds, then, in view of (5), we can assume that k = 0,  $\varphi_k(z) = e^z$ ,  $P_0, P_1, P_2 \in \mathbb{A}[z, z^{-1}], \sigma \notin \{0, 1\}$ . Then, by multiplying the equality (16) by  $e^{-\alpha z}$ , differentiating with respect to z, and dividing by  $e^{-\alpha z}$ , we get

$$\varphi_{\lambda}(z) = (P_2' + (\alpha_1 - \alpha)P_2)e^{\alpha_1 z} + (P_1' + (\sigma\alpha_1 - \alpha)P_1)e^{\sigma\alpha_1 z} + P_0' - \alpha P_0.$$
(18)

According to Lemma 1,  $\lambda = m \in \mathbb{Z}_{\geq 0}$ . In addition, one of the brackets is zero on the right-hand side of equality (18). Without loss of generality, consider that  $P'_1 + (\sigma \alpha_1 - \alpha)P_1 = 0$ . Then,  $P_1 = 0$  or  $\alpha = \sigma \alpha_1$ ,  $P_1 \in \mathbb{A}$ . In both cases, taking (5) into account, equality (18) has the form

$$\frac{m!}{z^m}e^z - \frac{m!}{z^m}\left(1 + \sum_{n=1}^{m-1}\frac{z^n}{n!}\right) = \left(P_2' + (\alpha_1 - \alpha)P_2\right)e^{\alpha_1 z} + P_0' - \alpha P_0.$$

Applying Lemma 1 again, we get  $\alpha_1 = 1$ . In the case of  $\alpha = \sigma \alpha_1$ , we have  $P'_2 + (1 - \sigma)P_2 = m!/z^m$ . Since  $P_2 \in \mathbb{A}[z, z^{-1}]$ ,  $\sigma \neq 1$ , this is possible only if m = 0,  $P_2 = 1/(1 - \sigma)$ ,  $\varphi_{\lambda}(z) = \varphi_0(z) = e^z$ . In the case of  $P_1 = 0$ , similarly, we get  $\alpha \neq 1$ ,  $\lambda = m = 0$ , or  $\alpha = 1$ ,  $\lambda = m \neq 1$ .

If equality (17) holds, then by multiplying it by  $e^{-\alpha z}$ , differentiating with respect to *z*, dividing by  $e^{-\alpha z}$ , and taking (3) into account, we get

$$\varphi_{\lambda}(z) = \left(P_2' + \left(2\alpha_1 - \alpha - \frac{2\lambda_1}{z}\right)P_2\right)\varphi_{\lambda_1}^2(\alpha_1 z) + \left(P_1' + \left(\alpha_1 - \alpha - \frac{\lambda_1}{z}\right)P_1 + \frac{2\lambda_1}{z}P_2\right)\varphi_{\lambda_1}(\alpha_1 z) + P_0' - \alpha P_0 + \frac{\lambda_1}{z}P_1$$

From here,  $\lambda - \lambda_1 \in \mathbb{Z}$ . Then, in view of (5), we can assume that in (17)  $\lambda_1 = \lambda$ ,  $P_0, P_1, P_2 \in \mathbb{A}[z, z^{-1}]$ . If  $\lambda_1 = \lambda \in \mathbb{Z}_{\geq 0}$ , then we return to the case of (16). Let  $\lambda \notin \mathbb{Z}_{\geq 0}$ . Then,  $\alpha_1 = 1$ ,

$$P_2' + \left(2-lpha-rac{2\lambda}{z}
ight)P_2 = 0, \quad P_1' + \left(1-lpha-rac{\lambda}{z}
ight)P_1 + rac{2\lambda}{z}P_2 = 1,$$

implying that  $P_2 = 0$  or  $\alpha = 2$ ,  $P'_2 = \frac{2\lambda}{z}P_2$ ,  $P_2 = cz^{2\lambda}$ ,  $c \in \mathbb{C} \setminus \{0\}$ ,  $2\lambda \in \mathbb{Z}$ . If  $P_2 = 0$ , then

$$P_1' = \left(\alpha - 1 + \frac{\lambda}{z}\right)P_1 + 1, \quad P_0' - \alpha P_0 + \frac{\lambda}{z}P_1.$$

Hence, in the case of  $\alpha \neq 1$ ,

$$P_1 = \frac{1}{1-\alpha} + \frac{c_1}{z} + \dots + \frac{c_m}{z^m}, \quad c_i \in \mathbb{A}, \ m \in \mathbb{N}.$$

However, then,  $-mc_m = \lambda c_m$ ,  $\lambda = -m$ , which is not possible. In the case of  $\alpha = 1$  $P_1 = z/(1-\lambda)$ ,  $P'_0 = P_0 + \lambda/(1-\lambda)$ ,  $P_0 = -\lambda/(1-\lambda)$ , which contradicts (7). If  $P_2 \neq 0$ ,  $P_1 = 0$ , then  $2c\lambda z^{2\lambda-1} = 1$ ,  $\lambda = 1/2$ , c = 1,  $P_0 = 0$ , and we come to (8). Hence, only the case  $P_2 \neq 0$ ,  $P_1 \neq 0$ ,  $\alpha = 2$ ,  $\lambda - 1/2 \in \mathbb{Z}$ ,  $\lambda \neq 1/2$  remains. In view of Lemma 3 and Theorem 1, Lemma 4 is proven.  $\Box$ 

**Theorem 3.** Let  $\lambda \in \mathbb{Q} \setminus \mathbb{Z}_{<0}$ ,  $\alpha \in \mathbb{A}$ ,  $\xi \in \mathbb{A} \setminus \{0\}$ . Then, for the algebraic independence of the numbers  $V_{\lambda,\alpha}(\xi)$  and  $V'_{\lambda,\alpha}(\xi)$ , it is necessary and sufficient that  $(\lambda, \alpha) \neq (1/2, 2)$ ,  $(\lambda, \alpha) \neq (0, r)$ , and  $(\lambda, \alpha) \neq (k, 1)$ , where  $r \in \mathbb{Q}$ ,  $k \in \mathbb{Z}_{\geq 2}$ .

The proof follows from Lemma 4 and Shidlovsky's theorem ([3], ch. 3).

## 4. Conclusions

- 1. One of the conditions for the applicability of the method of the article in [6] is the algebraic independence of the investigated function, f(z), from f'(z) and f''(z) over  $\mathbb{C}(z)$ . However, in view of (2), this condition for the function  $V_{\lambda,\alpha}(z)$  is not met. Nevertheless, Theorem 1, as follows from Theorem 2 and Lemma 4, describes all cases in which the function  $V_{\lambda,\alpha}(z)$  can be represented as a polynomial in the functions  $\varphi_{\lambda_1}(z)$  and  $e^{\alpha_1 z}$  with the coefficients in  $\mathbb{Q}[z, z^{-1}]$ .
- 2. In addition to the identities of Theorem 1, we can also note the identity

$$V_{\lambda,0}(z) = \int_0^z \varphi_{\lambda}(t) dt = \sum_{n=0}^\infty \frac{z^{n+1}}{(n+1)(\lambda+1)\dots(\lambda+n)} = z_1 \varphi_2(1;2,\lambda+1;z).$$

3. Theorem 3 provides necessary and sufficient conditions for the algebraic independence of the values of functions, not all of which, apparently, are algebraically expressed in terms of hypergeometric functions. By using the methods in the articles of [4,12], Theorem 3 can be generalized to larger sets of functions.

Funding: This research received no external funding.

Data Availability Statement: Not applicable.

Conflicts of Interest: The author declares no conflict of interest.

#### References

- 1. Siegel, C.L. Über einige Anwendungen Diophantischer Approximationen. Abh. Preuss. Acad. Wiss. Phys. Math. Kl. 1930, 1, 1–70.
- 2. Siegel, C.L. *Transcendental Numbers*; Princeton University Press: Princeton, NJ, USA, 1949.
- 3. Shidlovsky, A.B. Transcendental Numbers; Walter de Gruyter: Berlin, Germany; New York, NY, USA, 1989.
- Gorelov, V.A. On the structure of the set of E-functions satisfying linear differential equations of second order. *Math. Notes* 2005, 78, 304–319. [CrossRef]
- 5. Gorelov, V.A. On the weakened Siegel's conjecture. J. Math. Sci. 2007, 146, 5649–5654. [CrossRef]
- 6. Fresan, J.; Jossen, P. A non-hypergeometric E-function. Ann. Math. 2021, 194, 903–942. [CrossRef]
- 7. Andre, Y. Séries Gevrey de type arithmétique I. Théorèmes de pureté et de dualité. Ann. Math. 2000, 151, 705–740. [CrossRef]
- 8. Andre, Y. Séries Gevrey de type arithmétique II. Transcendance sans transcendance. Ann. Math. 2000, 151, 741–756. [CrossRef]
- 9. Katz, N.M. Exponential Sums and Differential Equations. Ann. Math. Stud. 1990, 124, 1–430.
- 10. Fischler, S.; Rivoal, T. On Siegel's Problem for E-Functions. Available online: https://arxiv.org/pdf/1910.06817.pdf (accessed on 4 June 2020).
- 11. Shidlovsky, A.B. On transcendence and algebraic independence of the values of some functions. *Trans. Moscow Math. Soc.* **1959**, *11*, 283–320.
- 12. Gorelov, V.A. On the algebraic properties of solutions of inhomogeneous hypergeometric equations. *Math. Notes* **2016**, *99*, 663–675. [CrossRef]

**Disclaimer/Publisher's Note:** The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.